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Notes 7.4 — Periodic Graphs
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What do you think phase shift will do?
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What happens when there is a change in period AND a phase shift?
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Determine how much and in which direction for each phase shift.
y = sin (Zx—g) Sin (Q(X —%—)> y = cos (36 + 270) ¢os (5(5} "*570)
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Practice:
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Write an equation for the given info:

A sine function, with an amplitude of 3, a phase shift ofg to the left, and a vertical shift up 4.
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A cosine function, with a phase shift of 180° to the right, a vertical shift up of 3, a period of i‘{, and
reflected over the center.

y = — cos (3(e -130%)) +3



